

1) find $\frac{dy}{dx}$ if $y = (2 \cos 3x) / x^3$

Solution

$$\ln(y) = \ln(2 \cos 3x) - \ln(x^3)$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{1}{2 \cos 3x} \cdot (-6 \sin 3x) - \frac{1}{x^3} \cdot 3x^2$$

$$\frac{1}{y} \cdot \frac{dy}{dx} = \frac{-6 \sin 3x}{2 \cos 3x} - \frac{3x^2}{x^3}$$

$$\frac{dy}{dx} = y \left[\frac{-6 \sin 3x}{2 \cos 3x} - \frac{3x^2}{x^3} \right]$$

$$\frac{dy}{dx} = \frac{2 \cos 3x}{x^3} \left[\frac{-6 \sin 3x}{2 \cos 3x} - \frac{3x^2}{x^3} \right]$$

2) If $y = xe^{2x}$, show that the differential equation $d^2y/dx^2 - 4dy/dx + 4y = 0$

Solution
 $y = xe^{2x}$

$$u = x \quad v = e^{2x}$$

$$du = 1 \quad \frac{dv}{dx} = 2e^{2x}$$

$$u \frac{dv}{dx} + v \frac{du}{dx}$$
$$= x(2e^{2x}) + e^{2x}(1)$$

$$= \cancel{x} \cdot 2e^{2x} + e^{2x}$$

$$\frac{dy}{dx} = 2x + 1 (e^{2x})$$

$$\frac{d^2y}{dx^2} = \cancel{2e^{2x}} (\cancel{2x+1}) 4xe^{2x} + 4e^{2x}$$

$$4dy/dx = 8xe^{2x} + 4e^{2x}$$

$$4y = 4xe^{2x}$$

$$= 4xe^{2x} + \cancel{4e^{2x}} - 8xe^{2x} + \cancel{4e^{2x}} + 4xe^{2x} = 0$$

3) Obembe Oluwadamilola, B

19/ENG04/036

Electrical and Electronics Engineering